Home Page http://192.168.1.6/dept/modules/marklist/answe...

PROVISIONAL ANSWER KEY

Paper: 043 - Kerala Service Rules
Date of Test 16-05-2024
Questionl:-Paternity leave can be availed
aflpo! @PaIW @EWIBMeFEDMDY
A:-90 days after the date of delivery
eawelad] ool evoao 90 dlairus
B:-before 10 days or within 90 days from the date of delivery
ecwelad olool gowd 10 damvosion gemo 90 damosimngsleao
C:-within 90 days from the date of delivery
ecwelad ool go 90 damvosilnssicd
D:-None of these
OAIOWINRALY
Correct Answer:- Option-B
Question2:-The legal heirs for family pension are dealt in
BGobN OlBaUBEO  MRIEDIW ERAUIGIEBUB HOB@IL OGO
A:-Rule 90 part Ill KSR
Qud 90 o Il 6. agV. @R A@.
B:-Rule 70 A part Il KSR
Qud 70 A o lll ©&.agV. @@,
C:-Rule 70 A part | KSR
Qud 70 A @ovo | 6. eV, @R d.
D:-Rule 74 part Ill KSR
Q3 74 @owe lll 6. agy. @R A@.
Correct Answer:- Option-A
Question3:-For enforced halt D A is admissible for the second day of halt.
R Wlo ald:oiles Wl.ag). mldovl@ldeo esmeoe dlairve aulle:eymosm’
A:-3/4
3/4
B:-full
QeI
C:-1/2
1/2
D:-2/3
2/3
Correct Answer:- Option-A
Question4:-Maximum number of stagnation increment admissible for an LDC
8@ ag@lmles @RMAIBMIRID MR.EM AUBERLMRSS AlERIAIW afRe
A:-four
moel
B:-two
©6ng
C:-three
Qo'
D:-five
@6l
Correct Answer:- Option-D
Question5:-In the case of full additional charge, charge allowance is granted at the rate of
oJden @rWls andeelden e:oeyowic, Mles@d alodeed @almmy @omad sfldlesam
A:-5% of the minimum of scale of pay
dlafla eayeieideo 5%
B:-4% of the minimum of scale of pay of the post in which additional charge is performed
@AWl 210Bes VSO OSBRSS aBQQYe &0 Lomig eaydialdeo 4%
C:-5% of the minimum of scale of pay of the post in which additional charge is performed
@RWle and@E HVSIEHIM MY HRQOS afQQje GO VMg eaYialdec 5%
D:-None of these
@ezmmbmgg
Correct Answer:- Option-B
Question6:-The minimum service required for DCRG is
almilerdsles @RIBIRID aFQQie B:O6TM EGIMLAIM.
A:-10 years
10 cBaso
B:-20 years
20 aidasio
C:-5 years
5 aiBauto
D:-15 years
15 e
Correct Answer:- Option-C
Question7:-The maximum stagnation increment admissible for part time contingent employees are
alods ©6S0 BEMEIRM HlameIdes @PMAIRMIAID alEadAIW] Y.EM AIBRLM

A:-5
5

B:-4
4

C:-3
3

D:-6
6

Correct Answer:- Option-C
Question8:-An officer working in Vikas Bhavan TVPM had to halt at Paltom, TVPM (3 kms from Vikas Bhavan) for 11 hours in connection with the
performance of his official duties. The rate of D.A admissible to him is
allaom e Slaflaflagle-@d 202l O B PEEPNOMNT EMOO BEPUIS YPORIBES MIBQNIMAYRW] mITWens ®™@eo 11 amigd emes slaflalage (all@omy gaumled aslan’ 3
&.0.) aroudesodlad @emlmladememrlaime. @REGaNETIM @RMAIGMIWAID lag Mlees

A:-1/2 D.A
1/2 aWlag)
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B:-3/4 D.A
3/4 alag

C:-full D.A
28I culag)

D:-No D.A
Wlag) gy

Correct Answer:- Option-D
Question9:-The maximum time period an officer is allowed to continue on deputation is
8@ DEEPVIVAM om)ruécgn‘.u(ﬁlm% ©50008 @RMAIGERM alead0iU]l B:oei@sal

A:-5 years at a stretch
5 aiBao @SB g0

B:-10 years at a stretch
10 Ao ®s@ gi@o@i

C:-No time period prescribed
TLa@aldlwl mlunidllafisley

D:-7 years
7 Qi@ewo

Correct Answer:- Option-A
Question10:-DCRG can be allowed for a maximum service period of
aleadwl carvaim soeigaleales clmilerded @pmaidlenoammosm

A:-33 years
33 aidasto

B:-30 years
30 aidaso

C:-No maximum period
le2dQIW] &:onIsql gay

D:-None of these
@@(ED(TTEEL-H

Correct Answer:- Option-A
Question11:-Advance increment can be sanctioned
@AM OMBGIOAMA @RMAIRIEIYM®

A:-Department head
Qsaf @elcim

B:-C and A.G
avl.ag). odl.

C:-Treasury director
Sadl W@ORA

D:-Only by the government
MUBSHIB BI@o

Correct Answer:- Option-D
Question12:-In case of request transfer
@REBEOMm SMMYSIBO0  &dEKOICS

A:-No joining time is allowed
Gal@M (MAWo m(ﬁmﬁﬂﬂ@m%

B:-No preparation time is allowed, only journey time is allowed
@QIOOFa] TLAW. GRMAIBMIRAL, @I MEW. BIDER @RMIGE

C:-Preparation and journey time is allowed
©QIOOFajo WO TVRWYe @pmdafldlasmo

D:-Maximum one day is allowed
aleaoaidw] 8@ dlaimve @RMAIEA]l@lesme

Correct Answer:- Option-B
Question13:-Daily allowance is calculated on the basis of
QOIEM @RRIAIMBMY HEMEIEBM® OTMBEO @RSIMLAdMEIa6eT

A:-Minimum of scale of pay
ABQQYo HOAT MIS HTYRI

B:-Maximum of scale of pay
aleeoaiw] Lmig eIyl

C:-Actual basic pay an officer is drawing
BT CEPUMINM afFEBMM WINIBMA @BSIMLOIM WMIB.

D:-None of these
DOGITORGY

Correct Answer:- Option-C
Question14:-Which among the following is an ordinary leave?
9P OQMAIDITB GO BT MUOWIREM @RAIW!

A:-Maternity leave
(oo

B:-Study leave
alom eflar

C:-Paternity leave
oo @oaiw]

D:-None of the above
GO |OTAUGWOTPRG]

Correct Answer:- Option-D
Question15:-Commuted leave can be availed only on
ﬁm@g(\ﬁ eflal eidlesmo

A:-Completion of 3 years of regular service
3 daeom 60weld MAQNMY odovlwodem.

B:-Completion of 1 year of service
1 ad GIVUQIMe @@

C:-Completion of 6 months of service
6 20MVEED ETVAIM. JBOETIWIEEM.

D:-None of these
@m@mmmamgg

Correct Answer:- Option-A
Question16:-Maximum leave not due that can be availed in a single spell is
68Q ERBUE[WHIT AIElEITD aleacwl @rAIWloe

A:-360 days
360 dlauroo

0EHEMo
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B:-200 days
200 dlaiaoe
C:-100 days
100 dlarve
D:-90 days
90 dlaimve
Correct Answer:- Option-D
Question17:-In case of voluntary retirement maximum service weightage applicable is
micaw®d afledlEad@oeemEI@d, aleadAIU] EILAIM HAIREQE IOWEAIET
A:-20 years
20 aidasio
B:-10 years
10 oo
C:-5 years
5 Qi@axo
D:-None of these
@m@m}omamgg
Correct Answer:- Option-C
Question18:-In case of obligatory department test maximum occasions T.A eligible is limited to
aldenirwlo awlapdsenmomd esqlBe0 eI aleadw] ERAIMVEEBRU Slag) EINY® 20@200] aIBll®eqgeTldleme
A:-Single spell
6Q @JoQIURle
B:-three occasions
QoM @RAITVEEBRUY
C:-two occasions
@6 @ROITLEEBRUB
D:-five occasions
@6l @RAITLEEEBRUY
Correct Answer:- Option-C
Question19:-KSR Part | Appendix XIl C deals with
OBagMIERd @0e | @emenimwe XIl C eod@000 ealgmo

A:-LWA for joining spouse
6moiluy omyDMiimowi Ag)BBAWERYaE
B:-LWA for study purpose
AloM @RAUUYTIIMOQ] ag)@BWERHE)
C:-Half pay leave
al® o) vemug @I
D:-Special disability leave
(QCOYB OOUMALY @AW
Correct Answer:- Option-A
Question20:-Which among the following service count for superannuation pension?
M@ @RICAIHUM HaIMBAUMOIV] GIOPOQM ETLAIMEREITS a@@osy HEMEDIEBAN®?
A:-Contract appointment
03 mloam.
B:-Apprentice Period
@Bl @oeisal
C:-LWA under Appendix XII C
@nsniarwe Xl C af S1¥ad ag@dawepyag
D:-None of the above
GATBOTHAUSIMORR]
Correct Answer:- Option-D
Question21:-An LDC working in Revenue department had applied for 7 days committed leave. The superior officer had changed the nature of leave
and granted earned leave, citing no valid reason. Comment on this.
0QIMy QAldiafled JAUBEDIEM 6@ ag@auim 7 Aameon @oaiwles @oealedaflam. eagesnmnm @paulges Mo 20Q6Qe MPRWAIW BHOEEMORIMo AIOVWIOD aumiodlgy
@AWl @RMAGEEG0 HaIR. DGIOMaF @REIOW. a0V
A:-the superior is correct
GREJEBINMOM 6.2QEY (oG]
B:-the superior should have cited a valid reason
CRRJEBIOMMVAM TLOWIAUID BT BHIBEMo AlOETIIGBIEEMo
C:-the superior is wrong
GREJERPNMIAM §aQPD OOF
D:-the nature of leave applied by a non-gazetted officer can be changed by his superior
B 6MosM VIVQAW BadlMd @eoulermM ERAIWIYSS  TLIRIAL GRWISES CRBJENNIVAM BIYIYID@IETY
Correct Answer:- Option-C
Question22:-A vacation department staff had performed 16 days duty out of 60 days vacation. How many earned leave can be earn?
8@ @RaIWlEndal Qida] elaimeem 60 damecsm @eawlele 16 damrveon sl dldqiadly). ap@ qumidls) @aiusled GMNSOMOB0?
A:-7 days
7 Ao
B:-8 days
8 dlaimve
C:-16 days
16 dlamoe
D:-10 days
10 dlairoe
Correct Answer:- Option-B
Question23:-What is the maximum number of earned leave that can be availed in a single spell?
8@ 6Mefled 1000wl ag@ umidl @AW eiEles.?
A:-300
300
B:-180
180
C:-120
120
D:-179
179
Correct Answer:- Option-B
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Question24:-Which among the following is the formula for the calculation of DCRG?
©@9PajomMaiicd almilerded &m’)m@ﬁ(mmﬂmgg €a0odgR! a@@oem?
Ai-
Last month basic pay + DA + HRA
]

&¥lenm 20MeEm @S1dM (Mo + DA + HRA
2

Last month basicpay mon::]l basicpay x Qualifying service
&¥1600 22MWeEm GRSIMIdM BMIGo X CWINJMI CTAUMo
10

B:-
Total emoluments * Qualifying service
10 2

220 _@MUGo X CWIN {2 EMAIMDo
C.- 10 2
D:-None of the above
GABAJOETIAUWOTPRGY
Correct Answer:- Option-D
Question25:-In case an officer had travelled in department vehicle and returned to
plus D.A for halt should be limited to
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head quarters within 24 hours then the total incidental expense

6@ PEPNMINM WlajodSHAMY QIAOMOTIE @I@ 62IYHQ. 24 oelgsdlrgglod @rmunmEn Gildle sTme:Qe 621QITh EATm. @RE:MYlE: 62100k Wlag@e al@ldlmengomems

A:-Maximum two D.A
ale20QW] EENE (Wlag)
B:-No maximum limit
aleadiw! aldlwloiey
C:-Maximum one D.A
ale20QW] 8@ (Wlag)
D:-None of the above
GO {OETIUOWIToRG]
Correct Answer:- Option-C
Question26:-The minimum service required for superannuation pension
MRa@ @RYMEUHM BalBaHM @YUUBIAIW aBQ(Yo HOBTID ETVLAIMo
A:-5 years
5 aiBauto
B:-10 years
10 oo
C:-20 years
20 aidasio
D:-12 years
12 oo
Correct Answer:- Option-B
Question27:-If pension has not been drawn for
QB2 HaIBaUM g FEVISIOLIBIG HIBaUMD MTEBHIMNE @RAIMIIMIER.
A:-One
630M
B:-Three
Qo'
C:-Six
@R
D:-Ten
@y’
Correct Answer:- Option-B
Question28:-Leave admissible for miscarriage to female employees is
mylElamenides’ nde. @eimalm’ @rreasmlwaIw @oawl@asy
A:-100 days
100 dlarve
B:-180 days
180 dlairve
C:-30 days
30 dlaroe
D:-None of these
DOGITORLY
Correct Answer:- Option-D
Question29:-An officer working in Kollam is deputed for audit at Kannur for 16 days

years the pension ceases to be payable.

. How will you calculate the D.A for this officer?

68:00/O0 6ol £.21QD G DEBPNTVOOM 16 dameomes (easggm’lax's soauldlmoal aflewouilenamn. e peEsRMMLAMES Wlng) ag@?

A:-Full D.A for first 10 days and 3/4th for remaining days
@pweom 10 dameome agud alagmye swealeam damsargla 3/4 oo
B:-Full D.A for 16 days
16 dlameome agud awlag
C:-Full D.A for first 10 days and 1/2 for remaining days
@pweem 10 dameoms agud alagmye swealeam damsasgla 1/2 oo
D:-Full D.A for 12 days and 1/2 for the remaining
12 dlameomes agud allageye snvasigsesaig’ 1/2 9o
Correct Answer:- Option-A
Question30:-Child adoption leave is granted for
SSlB68 BeOmSMMOInes @oaw] @pMIE] 4dlesmm
A:-100 days
100 dlarve
B:-60 days
60 dlame
C:-180 days
180 dlairve
D:-30 days
30 dlame
Correct Answer:- Option-C
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Question31:-In case of foreign service pension contribution will be calculated as
afledud ETLAIM OaIBaUMB MVRIAINWYSHS B0RKOTIM EEBREM EHEMERIER0
A:-10% of the maximum of the scale of pay
vemig erylalteo aeacaiuwl 10%
B:-15% of the minimum of the scale of pay
Mg emRYlaltec aggaj @:ostm @eqes 15%
C:-15% of the maximum of the scale of pay
vemig eaylalteo aeacaiuwl 15%
D:-15% of the basic pay
@pslmunom vemgomldeo 15%
Correct Answer:- Option-C
Question32:-Deputation allowance is paid at the rate of
s)(w(uécgowva @palmmy’ mlesslgss @:oriaaem’
A:-10% of the basic pay
@nglmunom wnigomldeo 10%
B:-5% of the basic pay
@pslrunom waigoolaeo 5%
C:-Rs. 1000 p.m
@. 1000 allago
D:-No deputation allowance
s)(w(uécgowva @RAICIMTY gy
Correct Answer:- Option-D
Question33:-Male employee undergone vasectomy for the first time is eligible for a special casual leave of
@Rl aPMGAlE lEw@MID a@a HAMEDIRM (JE®KD &I ellafla @pdaomeens.
A:-10 days
10 dlarve
B:-6 days
6 dlame
C:-14 days
14 damoe
D:-30 days
30 Ao
Correct Answer:- Option-B
Question34:-Commutation of pension is the advance payment of a portion of monthly pension for
OalBaHd a)m%cgnmna gl (@RI OIMBUBOO BT BIWo YMBE&0I] @RSYMT
A:-12 years
12 aBaso
B:-30 years
30 aidaso
C:-20 years
20 aidasio
D:-7 years
7 @z
Correct Answer:- Option-A
Question35:-Maximum earned leave that can be credited into the leave account is
ellaf @remvaEleals O@WIY 021 aleadaiw] mumiddEla) @oaiuwl]
A:-180 days
180 dlairve
B:-200 days
200 dlauos
C:-
120 days
120 dlarve
D:-300 days
300 dlauroo
Correct Answer:- Option-D
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Question36:-An LDC had joined irrigation department on 1.7.2007. During the year 2022 he had applied for second TBHG. The superior officer
rejected his request on the ground that he had not attained the required departmental test qualification. Comment on this.
8@ ag@lm @eiemam Ao 1.7.2007 @ cadmo. 2022-@3 @regano 06m=2e@™ Slonilagajtdles” @reaiesia). lapdseamd osqy cwonim emslaislogm @:oesmomocd

GORJEBRUNTINMD @REGAOOTIMEHO @DEalOH MEMJly). PO @PElIDe alOQH:
A:-The superior is wrong
GREJERPNMAM 6a1Q @Y
B:-the superior is correct
6RAJEBNMINM 6219 (BE
C:-Second TBHG can be granted only after attaining the test qualification
OSTY CRINY® EMSITIM EUoao 2I@ER EEMTEIROED Slnflagaftdl @RMAIG®IM B¢l
D:-None of the above
GO JOETINAUWOTPRGY
Correct Answer:- Option-A
Question37:-In the first year of service earned leave is calculated at the rate of
CLQIMODIOHMO @RYEY AUBHODIBD MVMIOEY] @RI BEMENIEBM D
A-1//11°
‘1/11°

B:-"1//22°
“1//22°
C:-"1//33"
“1//33°
D:-None of these
@mmm}omam%
Correct Answer:- Option-B
Question38:-LWA under appendix XII A is granted for a maximum period of
@nsnirwo XII A-a¥ #ldlajes ag@daweiag aiemoids] soawgaleaiss @omadafdlesan
A:-20 years
20 aidaso
B:-10 years
10 oo
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C:-5 years
5 aiBauo
D:-7 years
7 @z
Correct Answer:- Option-C
Question39:-Which among the following leave can be suffixed or prefixed with holidays?
®269a]0QMAIRIE ag®oem @AW FlaImERBOEIl Madlg; GoegIEIo3 llndlg; ©21QOm G¥lQe:?
A:-Appendix XII A
@pmsnirwo XII A
B:-Appendix XII B
@nmsnirwo XII B
C:-Appendix XII C
@pmsnirwe XII C
D:-None of these
OAOWINRALY
Correct Answer:- Option-D
Question40:-For the calculation of T.A, Grade | officer means all officers draw an actual basic pay of
Shg Qes eemasggelm, W | 8sadlmud ERAMNRERMEY agglo BoadlTudAIm. @IN0BMA @RSITLOOM WMIS. QAf)SEBMD af)aMIENY.
A:-70,000 and above
70,000 90 @roimo geslej
B:-85,000 and above
85,000 9. @roim gegle)
C:-95,000 and above
95,000 90 @roilmo geslej
D:-75,000 and above
75,000 9. @roim gegle)
Correct Answer:- Option-A
Question41:-A UDC is transferred from the taluk office to a village office situated 5 kms away. He was relieved on a Monday A.N. When should he join
for duty?
@) 80adil@ a5 sleaindlgd @pesecies alegied aoadimisales 20gaw. @B>80g o). 0f@B. moem’ dleflal @RE:M®. @RAIM afeajoeasm’ (\.l)ég']ﬂ)“ GlGEERM?
A:-Tuesday F.N.
62100498 af)ad. af)M.
B:-Tuesday A.N.
62100408 af). af)M.
C:-Wednesday F.N
6NJWMIE af)ad. af)M
D:-Wednesday A.N
6NJWMIE af). af)B
Correct Answer:- Option-C
Question42:-The maximum joining time that can be availed if the transfer is outside the state
SOMaMRAB MVILAIMETIM AJOTMISEMEDR (JEWILMEIFODIYM AlEBIAUUS Eal@BmM MIBo
A:-8 days
8 Ao
B:-9 days
9 dlaimve
C:-7 days
7 Ao
D:-30 days
30 dlarve
Correct Answer:- Option-D
Question43:-In case of Sanctioning anticipatory pension the maximum DCRG admissible is
BB OaBaumd @pMAElEBIM MIANIRKEMIM aleaciw] aslmilerds @rmasmlwaoeT
A:-50%
50%
B:-80%
80%
C:-100%
100%
D:-75%
75%
Correct Answer:- Option-D
Question44:-The maximum earned leave that can be availed in a stretch
8@ 6mRafled aIElEIYM aleadiwl TuMIdEly @oIW]
A:-20 days
20 dlame
B:-10 days
10 dlaave
C:-15 days
15 dlamoe
D:-12 days
12 dlaaoe
Correct Answer:- Option-C
Question45:-Which among the following fixation is not applicable in the case of promotion/appointment to a higher post?
@AM oajlecleases @cmo&n@/@ac%soc&gn&o‘ gl ®IOPajoQM adlegaud eioweae)

A:-Rule 28 A
Qud 28 A
B:-Rule 37 A
Qw37 A
C:-Rule 30
Qud 30
D:-None of these
SOAIOWINRALY
Correct Answer:- Option-C
Question46:-The retirement age is fixed at 60 for those who enter into service on or after
mewaren0 Mdafiled weaudlesmames alededd @ow. 60 el Mmeqsoviaidesan
A:-1.1.2013
1.1.2013
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B:-1.6.2013
1.6.2013

C:-1.7.2013
1.7.2013

D:-None of these
@mammmamgg

Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question47:-The retirement age of last grade employees who entered into service on or before 7.4.1970

7.4.1970 emo @railmgemio mudqfladled eeaiudly anqy eww eflamenomes  alloale owe
A:-56 years
56 aoqy
B:-57 years
57 aoqy
C:-55 years
55 aoqy
D:-None of these
@m@m}omamgg
Correct Answer:- Option-D
Question48:-Which among the following service do not count for pension?
@OOPJOQID GIVAIMEBEITD GOSN OaIBAUNIW] EBEMEIEBOCDD?
A:-Boy service
@REMSS|BESS BTUAIMo
B:-Aided school service prior to entry in the govt. service
BB qudallmilad @eaiudlesmaiinegmi’ ag@iowaly aRUd ervaime
C:-Bar service after the age of 25
25 aqdlay 6uonte 6n10@ GrLAIM.
D:-None of these
@ma(momam%
Correct Answer:- Option-A
Question49:-Revised rate of daily allowance for a Grade Il b officer is
s Il b @oadarudesgs @dm @reidailden ooelo o
A:-400
400
B:-500
500
C:-350
350
D:-700
700
Correct Answer:- Option-B
Question50:-The maximum incidental expense payable for a journey is limited to
6O WIOY MTBEHET ale2dW! @RB:MJlS: H.arial aldldlmeqsovioidesmme
A:-three D.A.
Qam’ alag)
B:-two D.A.
©6NE (Wlag)
C:-one D.A.
S0 (Wlag)
D:-No maximum limit
aleacw] adlwloiey
Correct Answer:- Option-C

Question51:-An Under Secretary working in Govt. Secretariat has a qualifying service of 29 years and 2 days. Calculate his qualifying service for

pension.

LMo em@esdlwdled ceoal £.21QD 6@ @6 M@0l 29 aidaqie 2 FlaImuge ERONKMI ETVAIMPETE. HalBaUMES @AM ERINKMI ETVAIMe HEMENIERD

A:-30 years
30 aidasio
B:-29 years
29 aidasto
C:-29 1/2 years
29 1/2 cidasto
D:-33 years
33 aidasto
Correct Answer:- Option-A
Question52:-Class of journey admissible for a Grade Il b officer is
e Il b @vadlrudes @pmasmlenw @o@Qes gomy
A:-1st class
Moo KoM’
B:-2nd class
@6MRIo O’
C:-3rd A.C if the train does not had 3rd A.C then 1st class
3rd ag.aVl. 3rd ag.aVl. megelod 1St goqy
D:-General compartment
LMOT HMIIBSOHDMS
Correct Answer:- Option-C

Question53:-In which among the following cases joining time is not counted as duty?

@IOPOQRM MMBAEREBEI® GalTBM MUAWo r\uégkvomﬂ BEMEDIEIRY
A:-for calculation of earned leave
aumiodly @QIUS EeMERIERMMIM
B:-for calculation of increment
DMBGSOAMBT BHEMEDIEBM DT
C:-for calculation of qualifying service for pension
OalMBaHMBS CROUNIMI BIVAMOTIMOO demMERgsalmowl
D:-None of the above
G OETIUOWOTPRGY
Correct Answer:- Option-D

Question54:-An officer transferred has to travel 520 kms to reach his new office. The maximum journey time available is
runale @Gl B HEBRWMNN BEMO oJollw sdadimileaiomom 520 @leandlgd qvemIElEEM.. LIRMID IEAIAIL] IO MUAW.
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A:-2 days
2 dlaime
B:-8 days
8 dlairve
C:-7 days
7 dlairoe
D:-5 days
5 dlame
Correct Answer:- Option-A
Question55:-Which among the following statement is false with regard to maternity leave?
@MW NIMWLEAS IOPIORYM (JTRIAUMBEIT BT armg’?
A:-It is granted to female employees for 180 days
oo’ 180 dlameomes amloo ellaimenides @oaeaidafdlesan
B:-Maternity leave is counted as service for declaration of probation
(JOBENIAHM (JEUPAIMNOIMSS ETVQIMAIWIT (JTVAIIAIUS HHEMENIERMND®
C:-Earned leave at the rate of 1/11 is accrued during this leave
0o @paWlenoeiom 1/11 agm dleesled qumiodly @il eidlesmmo
D:-This leave can be availed for more than two occasions
00 @RAIW! EETEITS BFM@ @AM (@ELIRMOIFOMI
Correct Answer:- Option-C
Question56:-An officer having 32 years and 7 days service retired from the service on 31.3.2022 for the calculation of DCRG his service is counted
as 33 years. This is an example of
31.3.2022 o qudalmil@d adlar’ alledls 32 aidaage 7 dairua mudallmyes 6 peapnmuaemo awl.adl.@rd. . es eemasgselmow] @peganamilemo eruaims 33 adamocl
HHEMEDIERTO. OO BT OBIANEMAIET
A:-Special rounding
(QJCDIB OODENEloUY
B:-Ordinary rounding
MUIWIREM O DEMEloY
C:-Minimal rounding
ddlacd ©0verEleuy
D:-Maximal rounding
alE20QIW] ©ODENEUY
Correct Answer:- Option-A
Question57:-For attending national level championship of special casual leave is eligible.
auele @el anmi@Bedlafled aesgesmailay (QCDB BIUI @RAIUWIES @RBAOMQYENE.
A:-30 days
30 Ao
B:-15 days
15 dlaioe
C:-90 days
90 dlaurvo
D:-45 days
45 dlaave
Correct Answer:- Option-D
Question58:-Special casual leave for a maximum period of days is eligible for blood donation in a calendar year.
B0 BHLIMRA AURHODTIT ESMBIMODIM ale@0QIUS] AlAmEomERss ey B0a@d aflal eowmyros
A:-10
10

Correct Answer:- Option-B
Question59:-The maximum provisional pension admissible is
@RMABHIRRIW ale20IW] ®IC&:Rls: HalBaund

A:-1/2 of normal pension
LOWIEEM SalBatiemo 1/2
B:-limited to 50,000
50,000 @p@ aiddoeaqigovicidesme
C:-75% of normal pension
aLIWOEEM ealBauemo 75%
D:-None of the above
GBI {OETIOAUOWITORG]
Correct Answer:- Option-D
Question60:-An employee attains 56 years on 1.4.2021. In which date he should retire?
a@ dlamenoead 1.4.2021 o 56 aidae claqgme. «g@ dloolwlensm @regao. aledesnerr?
A:-31.3.2021
31.3.2021
B:-30.4.2021
30.4.2021
C:-1.4.2021
1.4.2021
D:-31.8.2021
31.8.2021
Correct Answer:- Option-A
Question61:-An officer was granted an officiating promotion in the scale of pay of 107800 - 160000 w.e.f 1.6.2021. The fixation rule applicable is
1.6.2021 go@® wmg emyaielcd am geapPNOMM Sadleaudly @)oo @omeadly). @RENY EIOWBDIW adlEgyaumd Qud.

A:-Rule 28
Qud 28

B:-Rule 28 A
Qud 28 A

C:-Rule 37 A
Qud 37 A
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D:-Rule 26
Qud 26
Correct Answer:- Option-C
Question62:-LWA on Medical certificate will not count for

ool mudgldendlomo a@WERYaE) BEMEDOLIGY
A:-TBHG
Slenflag)afed]

B:-Qualifying service for pension
OalBaHMBS CRINI®I ETVAUIMo
C:-Annual interest
QB aleflve
D:-None of the above
G OETIAUGWOTPRGY
Correct Answer:- Option-D
Question63:-Which among the following service not count for increment?
Tlaj0QAN ETVAMEBEITE GOSN DBEIOAMBED B:EMEIEITOD?
A:-Overstayed regularised as LWA
ag)@BODERYRG) @R BoaIdeTy H0YRIBeOMS 621Q
B:-Barring of increment with cumulative effect
@é@cmg'lrﬂ Da0RSB DRSO MSQE3
C:-Aided school service prior to govt. service
BB eTLAIMETI G ag@awa qud ervaime
D:-All the above
GO OETIOUOWEI00
Correct Answer:- Option-D
Question64:-In case of transfer T.A dependent family members includes
SOBMRA@ 6.21QPIT Sl.af). ERHUBI® HFoENINIEREITD 2uB6njgmo
A:-spouse and children only
IR B:SlBSo BI@o
B:-spouse, children, father and mother
@00y, HSlBuB, @PoM, @oon
C:-spouse and one child
RO B B:SIQo
D:-spouse and two children
@O0YQYo E6TE drSldrgo
Correct Answer:- Option-A
Question65:-A temporary transfer means transfer only for
8@ ©95)9elH HOBRIGe afIMIT LGIMIV] 2o HOBPIQo ©.21Q)d )M @RABMARIEBMND®
A:-six months

@R0 MOV
B:-one year
8@ QBaHo
C:-two months
©6NE @OTVo
D:-three months
Qam’ @aMo
Correct Answer:- Option-C
Question66:-At present there are number of scales of pay.
aleiacd wng emielle)ss ageRe onE.
A:-30
30
B:-27
27
C:-28
28
D:-32
32
Correct Answer:- Option-B
Question67:-Third time bound higher grade is granted on completion of years of service.
QIBUOOD ETVAIMo JBOTWIBEMIOUT FANo AIMQe SWAMM WA @RMAIEER.
A:-21
21
B:-22
22
C:-27
27
D:-20
20

Correct Answer:- Option-B
Question68:-An officer at the time of retirement nominate his friend to receive family pension upon his death. Is this legal?
alledlesm MO B PEARPOILAM EEAIBMBO BEEMEUBHYs B:Gosh HaliBnu aideRmM@aY @rAIBMO MyapaDilem Mmoaaildeguos ealgMo. L Mlwaleadesmo?
A:-No it is illegal
ey oo Mloaalmevaem’
B:-Yes it is legal
@REO®. ® MWaalEAdET
C:-He can nominate only relatives as his heirs
BRIVBES MOMO BRAIBIBIHSIV] MNIMREOS BIDED MIAMIBEFWe ©.21QIM B¥IQ)
D:-None of these
@6)@0(11’012%!
Correct Answer:- Option-A
Question69:-An officer entered into University service on 1.9.2007 and subsequently on 1.8.2013 entered into state service. Is he eligible for
statutory pension?
a@ gespunmuam 1.9.2007 of geleagldl cmudallnia @eaidly). @sdan’ 1.8.2013 @ musmunom qudalmiled wjeaiwdly). @raim rloadmay® ealmdaumy @odanmoesmo?
A:-No, not eligible
8] CINYODIY
B:-Eligible only if he had entered into state service before 1.4.2013
1.4.2013 o gl moemunom audofimiled aeaiudlslaemeslcd ao@ea @pdaoones
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C:-Yes, he is eligible
@RE® @RQIM BROWIMIETY
D:-None of these
@OJG)@O(TTDID%
Correct Answer:- Option-C
Question70:-Which among the following is the senior most rule in KSR?
@69 alOQMAIDIB F@EM OBafTIERIIOR! agghie Al mlwa.
A:-T. Arules
Slag) MloneERud
B:-Joining time rules
CalmBEMINESs MnERU3
C:-Pay fixation rules
aleMasQ@ mlwneasud
D:-Pension rule
OalBayd Moo
Correct Answer:- Option-D
Question71:-For the purpose of T.A calculation employees receiving a pay below is considered as grade IV employee.
Slag) SeMeEsgselamo peauoyomimow] elaimendd @ @969 WMIge AR Hlaimendeem W IV elaimeniemow @:m@EI@ea]gm
A:-25,100
25,100
B:-20,000
20,000
C:-27,200
27,200
D:-29,200
29,200
Correct Answer:- Option-A
Question72:-Minimum Tour T.A eligible if an officer travelled more than 8 kms
8@ peapnmnm 8 @leendgdlm esmod @I 621 daila. 5@ Slag) cowmymoeTy

A:-2D.A
2 allag)
B:-One D.A
8@ Wlag)
C:-No minimum limit
dloflae aclwlaley
D:-None of the above
GO JOTIAUWOTPRGY
Correct Answer:- Option-B
Question73:-A deputy secretary as a part of his official duty stayed in a three star hotel of Eranakulam. In connection with this he submitted a bill of
Rs. 4000/- towards hotel bill. Can this amount be reimbursed?
[51] e)rwoJégT OMVGS0l ®OMO BVERPUIS c\bégﬁqgss oN2OW] afOFMILBSOOD 6@ GITROB Gandgaled @oamily). AT MITWES @PEGaN. HRIOD enicd 4000 @ enilad oadafly).
OD @& TIEOD MTBHIMISER0?
A:-No, there is no reimbursement of room rent inside Kerala
08} CHEBTHMHBOB Qo AUISHY SlagoesnIFmienmd egy
B:-Yest, this can be reimbused
@RO®, DX GIBOB MTBBOQYINIE
C:-If proper bills are submitted this can be allowed
(@I snﬂ%da,uﬁ madaflapmd ermasaiwacsm
D:-None of these
@matmomamgg
Correct Answer:- Option-A
Question74:-Which among the following is not a compensatory allowance?
@969 OQRMAIRI@ oF@6M EHMIMEmQA] @paICImmY’ @roggom@‘?
A:-City compensatory allowance
gl e@omimemugdl @paiImdmy’
B:-Uniform allowance
Qemleande @oaIQIMBMY
C:-Project allowance
JOBE @RRIAIMBMY’
D:-None of the above
GA@{OETIAUOWITORG]
Correct Answer:- Option-D
Question75:-Dies non period will count for
WM eMeN alldlow &emEnaeammy
A:-Earned leave
i@l @]
B:-Salary
PMISo
C:-Increment
HMGSlOamdo
D:-None of the above
G OTHAUGIMORRY
Correct Answer:- Option-C
Question76:-An officer had submitted an application for the surrender of 15 days earned leave on 1.8.2021 and later on in 1.10.2021 he had again
submitted an application for the surrender of 15 days E.L. Can this be admitted?
a® gespnmam 15 dameo mumosy aeawles’ 1.8.2021 af @oeaidy quadafly). afmils 1.10.2021 o aflnge 15 damecs E.L. oo aveaciesocao?
A:-No this cannot be admitted
08y, O @RUIBEE®IM B¥leiey
B:-Yes can be admitted
@RO®  (@JEUTIEN00
C:-If the second Surrender is transferred to GPF then it can be admitted
620060 MO edlaflaglad-caie’ 20QHIeIMEIES @) Mulle:daoqmaosny
D:-None of these
@OJG)@JO(TTOID%
Correct Answer:- Option-A
Question77:-Calculate the qualifying service for pension from the following information:
1. Total service 32 years
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LWA on medical certificate 2 years
Boy service 1 year
Contract appointment 1 year
Bar service 1 year
. LWA under appendix XIl C 3 years
269aj0Qm aflieaRElcd MM’ OaIBaUPESS EOINK®I GITVAIMo GEMEDILRSE |
@ROD eI 32 Qidatio
eauilen®d BSladlerdled ag@dowepig) 2 QiBao
re@mpesgﬂﬁgas earoaimoe 1 aidaso
#0038 dleame 1 aidao
6103 ervaImoe 1 QIBae
ag@Bweniiag @oMENIMWIEE0Re XII C @dore 3 aidae
A:-30 years
30 udato
B:-27 years
27 aidasto
C:-28 years
28 idato
D:-32 years
32 aidasto
Correct Answer:- Option-B

oOUPWNEZg OUTRWN
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Question78:-An officer working in Thriuvananthapuram was transfereed to Kollam on request. He was relieved off his duties on 7.9.2022 A.N. When

should he join for duty (Tvpm - Kollam distance 70 kms)

OBAUNMJEODY 620ell £.21QIM GG PEEPRVTINNM GRAUDYAIBI EHIUSETE) ORI M. 7.9.2022 agagod. -a¥ @oegane0m yameieglod oy a$langsl. ageajoud cu)églﬁm“

8aie6mo  (Slaflaflage - ©@0g)e goo 70 @l.al.)
A:-9.9.2022 F.N
9.9.2022 ag)ad.ag@
B:-15.9.2022 F.N
15.9.2022 agad.agad
C:-15.9.2022 A.N
15.9.2022 ag.agd
D:-10.9.2022 F.N.
10.9.2022 agad.agad
Correct Answer:- Option-A

Question79:-Which among the following is wrong with regard to compensation leave?

Mayal@la00@ @RAIWIQNID] ITWET MIOLJOQINAI®E agmoen 6m?

A:-Maximum leave that can be availed is 15 days
15 dlaruasem’ aleaoaius eflal

B:-Sanction of the controlling officer is necessary
SdEsIElt) BoadlnuQes @PMATH @RIURYAIEM

C:-It is not admissible to the head of the office
&oadlny’ cawoalles’ @ aulleoeiae)

D:-None of the above
GBI WITPRG]

Correct Answer:- Option-D

Question80:-Maximum period eligible to get charge allowance in a single spell is limited to
689 emMaflad andeed @raImY aIElERMEIM EINIIY  alEAAIW] &ILIEAT alEldl®eqgTBleldlesma

A:-6 months
6 moave
B:-2 months
2 moaue
C:-3 months
3 moave
D:-one year
1 oo
Correct Answer:- Option-C

Question81:-Which among the following is not a feature of Rule 28A fixation as per part | KSR?

@900 | OBanMIEDA 000 QU8 28A adlegruemo MAleUeUTWEPED®Y aB@oem?

A:-This is applicable for substantive promotion
DO BHIRYRIW (QJERAHM ENUOWERIEITY

B:-the benefit of notional increment is applicable
MoE@afle: DB HMAOMO (JEWITRMo FNIOWEHPIET

C:-benefit of two increment is ensured
@6 BGIEamdlemo @RmEale SOaIERM

D:-Refixation is allowed on the date of increment
2B@eec Cloclalcd dadegwamd apmusmioadsmy

Correct Answer:- Option-A
Question82:-Presently there are TBHG's.
aleincd Slenflag)ajedl &3 @6’

A:-six
@R

B:-three
Qan’

C:-five
@6l

D:-None of these
@OJG)@JO(TTOID%

Correct Answer:- Option-D
Question83:-Superannuation pension calculation is based on
M@ @RMEUHM HalBaUB EEMERL:STD @RSIMA0MA0ESIQEsmIsTY

A:-Total emoluments for last 10 months
adleom 10 aomeom @oes wmigs

B:-Average emoluments based on last 10 months pay
B¢l 10 20muecm werigeem @eSIrunomaIslQes wEIURE! CAMMERUD

C:-Total of last 10 months pay
@l 10 aomeom wmnisomlemo ereseme
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D:-Average emoluments based on last 12 months pay
Bloom 12 2006w temgee® @RSIMadMaIEIQEs EIURE! CAIMMERUY
Correct Answer:- Option-B
Question84:-An LDC in irrigation department who had passed all the department test had applied for first TBHG on completion of 8 years of service.
The superior rejected his request citing that there is no vacancy of UDC. Mark a comment on this.
ag)gfo Wlapdsenmc’ ©STRo aflesily) 8eIBIVAIM Qidafoal 8@ ag@dausiadl 8 aid Bl oJBoDIIESIR@IM Ao
adlallogmm’ qerEledglosm’ 6aa)eENMINM @REGAOOBINMO @REEYH OSSR, DT 8@ EREIROIW. CEAIOWFEDS:
A:-the superior is wrong
GREJEBINMAM HOQIE 6).a1Q)
B:-the superior is right
62EJEBNMINM EIIET 6419
C:-vacancy is needed only for granting 2nd TBHG
©6M7200 Slenilag)ojedl @emAElERM@IM 20@. Bl @RYIUBYROETY
D:-None of these
@ma(momam%
Correct Answer:- Option-A
Question85:-Voluntary retirement is granted to an employee who has minimum years of qualifying service.
H060O QABHOHOD CRIMMI NLAMESS 8@ HAMEIEM quieaw®I Alledler® @rMAIE sfldlesamw.
A:-25
25
B:-15
15
C:-10
10
D:-None of these
@ma@omm%
Correct Answer:- Option-D
Question86:-For getting maximum pension years qualifying service is necessary.
alE20QIW] OalBaumd aidlesomailay QBUOO EROWNIMI BATVQUMo @R)UUBYAIETY.
A:-30
30

4 slenflag)sjtdles” @peaIe slmme. Qaulmiges

33

20
D:-None of these
OAOWINRALY
Correct Answer:- Option-A
Question87:-Which among the following statement is false with regard to charge allowance?
21088 @RI IS IOPAJORQRM JTYIAUMBETE a@@oey omq?
A:-Charge allowance is payable for a maximum period of 3 months at a time
210328 @RAINIBIY B MUa®. alEadAIW] 3 BITVETTE M@B:EMo
B:-Charge allowance for full additional charge is 4% of minimum of scale of pay
ggaimB @oWle andeElngs andpe @eanBmy ddla. eqyaieledo 4% areny
C:-For getting charge allowance the officer should perform additional charge exceeds 14 days excluding holidays
2@’ @eemmy eidlesma@lm Boadaud @eaiw] damuasn adled 14 damesod egomad owld o@D 6.alQem.
D:-None of these
SOAIOHWINRALY
Correct Answer:- Option-D
Question88:-For holding additional charge on current duties the charge allowance admissible is
dleiaieer t\ng.ﬁ;gaﬂ @RWId 210@2ed VSIERMEIM 210dmed’ @RRIIBMY @RMAIBMTIAIW @6TTY.
A:-2% of the minimum of scale of pay
@060 Mg eryaleno 2%
B:-2% of the maximum of scale of pay
alea0aiu]l vomig eayeleco 2%
C:-2% of the basic pay
@nslmunom wnigomlemo 2%
D:-None of these
@QJG)@O(TTOID%
Correct Answer:- Option-A
Question89:-Travelling allowances are dealt in which part of KSR:
OB TVEBRYB OO B BINMEMIET @I GRAIAIBIYHU HOEBEID0 o_ruugm)cm“?
A:-KSR Volume | part |
OBaf)MIER® caglws | @owo |
B:-KSR Volume | part IlI
OBag)MI@RA canglw. | @wo Il
C:-KSR Volume Il part |
OBaf)M@RA canglwo || @awo |
D:-KSR Volume | part Il
OBag)TIERA canglwo | @wo Il
Correct Answer:- Option-D
Question90:-If free boarding and lodging are provided then D.A admissible is
6TMUDBMLENIBUIEF. @IATIOTVVBELY MESITIgeemeeled Wlag) @mAIBMI@@6M.
A:-full D.A
QeI aul.ag)
B:-2/3 D.A
2/3 awl.ag)
C:-1/4D.A
1/4 awl.ag
D:-1/2 D.A
1/2 adl.ag)
Correct Answer:- Option-C
Question91:-The act governing Kerala Service Rules is
B8 MAQlny mwamseg Tmlwaslesan dloa.
A:-Kerala State subordinate service rules 1958
ees eqyg’ quesmodauslemng audaflny gudmy 1958
B:-Kerala Panchayat Raj Act 1994
CHES Al o Mloa. 1994
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C:-Kerala Public Service Act 1968
c&08 alepfley TudQlay @y 1968
D:-None of these
@OJG)(!}JO(TTDID%
Correct Answer:- Option-C
Question92:-KSR came into force with effect from
OBafTIBYB (JONIRIODTI@D QUMDY
A:-14.11.1966
14.11.1966
B:-1.12.1956
1.12.1956
C:-1.10.1956
1.10.1956
D:-1.11.1959
1.11.1959
Correct Answer:- Option-D
Question93:-Which of the following statement is false with regard to exgratia pension?
AfEBW OaIBaUOM MoeIMWla] @O aIOQMAIRIE oG ems)g;“?
A:-It is introduced in 1.10.99
0@ 1.10.99 @ @raimdlafy
B:-Commutation is allowed
&m@mgn&«r& @pmaBrlwacey
C:-It is based on slab system
@ apoent Milquecm @oslmunomadslQes@osy
D:-It is granted to employees having one to nine years of qualifying service
B0 OT BN QBaHe AUOG CRIWYMO CTLAIMESS HAMERIAE B @PMAIEAdlesmo
Correct Answer:- Option-B
Question94:-Calculate pension from the following information
total emoluments for last 10 months = 7,50,000
total qualifying service 31 years
©969aoQ AllaieEREI® WA ©alBaud GEMEIERS
sleom 10 aomveom eres wmg. = 7,50,000
HROOMe EWINKMI GTAIMe - 31 QUBauo
A:-3,75,000
3,75,000
B:-75,000
75,000
C:-50,000
50,000
D:-None of these
DOOMRGY
Correct Answer:- Option-D
Question95:-The maximum amount of DCRG payable
a@rseger wlmiardslges aleacawl @
A:-17,00,000
17,00,000
B:-10,00,000
10,00,000
C:-16,00,000
16,00,000
D:-14,00,000
14,00,000
Correct Answer:- Option-A
Question96:-The liberalised pension scheme came into force with effect from
OBIRAIME @4 HaIBaUM alRLD (JosnIeIETIG QMY

A:-1.11.1956
1.11.1956
B:-1.11.1960
1.11.1960
C:-14.11.1968
14.11.1968
D:-None of these
@ma@ammrﬁg
Correct Answer:- Option-D
Question97:-Every number of days of later attendance without permission leads to forfeit a days casual leave.
@RMARAIRIPE® allaTfls’ anEEIE:N §06ED Alaruesge 6@ AATEOD @0au@3 eflal Mayeajgmaleaas’ maflenme
A:-two
©6ng
B:-five
@neal
C:-three
Qo'

D:-None of these
OAIOWINRALY

Correct Answer:- Option-D
Question98:-Formula for calculation superannuation pension as per Part Ill KSR
200 |l ©80giERd@ @oMMIEls] MYajd @RRENINHUM SalMBaHd @G:EeMEIEBMGIMSs Gnnodgel

Average emoluments . Qualifying service
2 30

BIPA] RMIGo X CWINJMI GAVUMo
A:- 2 30

Total emoluments

2
Q@O0m WMIGo
B:- 2
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2
Average emoluments x %

®R@] vmigo xZ
30

Basic pay Average emoluments
2 30

@sIModm Migo X REIWE) WMUGo
D:- 2 30
Correct Answer:- Option-A
Question99:-Can leave be claimed as a matter of right?
aflal @paIe0e00] Ol 621QoM &¥lQead?
A:-Yes
@16)D

B:-No

o
C:-Half pay leave can be claimed
ale:@l caOM @RAIW Ol 6.a1Q00
D:-Commuted leave can be claimed
a,m(gg(w“ ellaf gl ©a1Q0
Correct Answer:- Option-B
Question100:-Maximum pension as per 2019 pension revision
2019 eaiBaum clafleatm @dd@0 alEDoIU] Halaum

A:-1,05,000
1,05,000
B:-83,400
83,400
C:-68,400
68,400
D:-96,600
96,600
Correct Answer:- Option-B
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